5-Digit: S1

Standard and Expanded Forms Answer Key
A) Write each of the following numbers in expanded form.

1) 95287 = 90,000 + 5,000 + 200 + 80 + 7

2) 80,002 = 80,000 + 2

3) 12,658 = 10,000 + 2,000 + 600 + 50 + 8

4) 61494 = 60,000 + 1,000 + 400 + 90 + 4

5) 48,516 = 40,000 + 8,000 + 500 + 10 + 6

6) 50,304 = 50,000 + 300 + 4

B) Write the following in standard form.

1) 20,000 + 1,000 + 400 + 40 + 1 = 21,441
2) 30,000 + 6,000 + 200 + 30 + 8 = 36,238
3) 10,000 + 5,000 + 3 = 15,003
4) 70,000 + 2,000 + 500 + 90 + 7 = 72,597
5) 90,000 + 7,000 + 300 + 60 = 97,360
6) 60,000 + 4,000 + 800 + 10 + 9 = 64,819
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